PG-246 MCO-21

M.Com. DEGREE EXAMINATION —
JANUARY 2015.

Second Year
FINANCIAL MANAGEMENT

Time : 3 hours Maximum marks: 75

PART A — (3 x 5 =15 marks)

Answer any THREE questions.
1. Write any two methods employed in the valuation
of equity shares.
Crirenio Liki@ (pgena SLIGHLD eulfl(LpenDESEerT 6T (LpS)s.
2. What are the factors that effect capital investment
decisions?
WO perpulled eroLBIb srranflsamer QTGS 6T
3. A company has a choice of the following two
financial plans. Calculate the financial leverage in
each case and interpret the same.

X Y

Rs. Rs.
Equity Capital 2,000 1,000
Debt 2,000 3,000
Operating Profit (EBIT) 400 400

Interest on debt is 10% on all cases



@@ Hnwbd EpssarL Bleoule Bl b qetamn
GupQarar_g. Bl B wpeapuler Geuairemryharer

OTHIUTL L SeuTL_Hls.

X Y

- -
@‘r_r;frc;ml_o LAY 2,00 1,00
SL_6oT 2,000 3,000
Qués @eruwn (EBIT) 400 400

allly 10% sieansgl Hlanavsafigyd

What are about the factors determining the
working capital requirements of a business?

Bl (pepm  (psadlenar  seLPlwu  CeaneuliLi(pid
srranflEamer eT(HS0S(pgIS.

What 1is venture capital? What are its
characteristics features?

Ul (pFed eTammed eTeren? eUhedlul  (LpsHalene

ST PlLd @GenTrTdlFwid wing,?
PART B — (4 x 15 = 60 marks)
Answer any FOUR questions.

Define  Financial Planning. Explain the
importance and basic characteristics of a good
financial plan.

BE Sl iuliqued Qessetd  HHS.  DFem
Wa&Ewggeud — GemmHFumser  wHMD S
Cuameirento LHM 6T(LpS)Is.
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10.

Initial investment Rs.20,000. Net cash inflows
1st year, Rs.2,000, 27 year Rs.2,000, from 3¢ year
to 10th year Rs.2,500 each.

Work out Net present value with a discount rate
at 10% and find out whether the investment will
be worthwhile.

The present value factors at 10% are :

Years : 1 2 3 4 5
PV Factor: .909 .826 .751 .683 .621
Years : 6 7 8 9 10

PV Factor: .565 .513 .467 .424 .386
wpsd®H 5.20,000-6r flay CQrrés Qeuafl gl L b 1-6aug
5.2,000, 2-eug) m;.2,000, 3-eug — 10-eug em.2,500
ardn@ Hlar @eru wpenmewiu|b seTemuly 10% ererm
g LiuanLudled (Lp&GeSL Ly 6t L8 SesrLHls.

e 1 2 3 4 5

smyewfl :  .909 .826 .751 .683 .621

el 6 7 8 9 10

smyewtl . .565 513 .467 .424 .386
What are the factors determining the capital
structure of a firm?
wpgadlar sjanwlier srraflaamer LDD 6T(Lps)s.
Discuss the advantages of having adequate
working capital and dangers of inadequate
working capital.
BenL_(pevm (psedler Cumdlw whmid Gursm Hlaneoues
Betenio, Samosene eflouflss.
Describe various types of dividend policy.

umsTeTW Camum’ g6 euenssamer ellelfss.
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11.

12.

From the following capital structure of a company,
calculate the overall cost of capital using book
value and market value weights.
Source Book value Market value
Rs. Rs.
Equity share capital 45,000 90,000
Retained earnings 15,000 -
Preference share capital 10,000 10,000
Debentures 30,000 30,000
The after tax cost of different sources of finance is
as follows :
Equity share capital : 14%, Retained earnings :
13%, Preference share capital : 10%, Debentures : 5%.
Blmwsdler pgeler ewlimus Csreamp e
SIBISTG S| DOMID L§5SE oSl HlfenTLSnS SevrL_Hs.
L&5& I SmsTg Sl
1. .
CBiTenLoLIMIE; (&6 45,000 90,000
Qupm ukIE 15,000 -
wpenaniflento L@ (psed 10,000 10,000
SLaTUSSTLD 30,000 30,000
auflggl e oeter  Cgenen  Coumuimiqener
Epsaenm_oumn HOLGL_emb.
Crrepoumig g 14%, Qupm  eu@meums  13%,
peraiflentd Liki@ (pse 10%, sLem LigSrd 5%.
Explain the various methods of appraisal of

capital investment proposals.
Wpsadler LSS G (PODE®ET Qgefleurs

UmsLILI(HSSIs.
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